
ΘΕΜΑ	
  Β	
  
	
  
Ι.	
  Το	
  γυναικείο	
  αναπαραγωγικό	
  σύστημα	
  διαθέτει	
  οργάνωση	
  που	
  εξυπηρετεί	
  την	
  
αναπαραγωγή	
  και	
  την	
  ανάπτυξη	
  του	
  εμβρύου.	
  Να	
  απαντήσετε	
  στις	
  ερωτήσεις:	
  

	
  
α)	
  Ποιες	
  από	
  τις	
  δομές	
  που	
  αποτελούν	
  το	
  αναπαραγωγικό	
  σύστημα	
  της	
  γυναίκας,	
  
βρίσκονται	
  στο	
   εσωτερικό	
   του	
  σώματός	
   της;	
  Ποιος	
   είναι	
   (φυσιολογικά)	
  ο	
  αριθμός	
  
κάθε	
  μιας	
  από	
  τις	
  δομές	
  αυτές	
  στο	
  σώμα	
  μιας	
  γυναίκας;	
  (4μ)	
  
	
  
β)	
  Ποιο	
  είναι	
  το	
  εξωτερικό	
  γεννητικό	
  όργανο	
  της	
  γυναίκας;	
  Ποιες	
  επιμέρους	
  δομές	
  
περιλαμβάνει;	
  	
  (5μ)	
  
	
  
γ)	
   Ποια	
   από	
   τις	
   δομές	
   του	
   αναπαραγωγικού	
   συστήματος	
   της	
   γυναίκας	
   αποτελεί	
  
αδένα;	
  	
  Σε	
  ποια	
  κατηγορία	
  αδένων	
  ανήκει;	
  Να	
  ονομάσετε	
  ένα	
  από	
  τα	
  προϊόντα	
  του.	
  
(3μ)	
  
	
  
ΙΙ.	
  Το	
  στέλεχος	
  αποτελεί	
  την	
  περιοχή	
  του	
  εγκεφάλου	
  που	
  συνδέει	
  τα	
  ημισφαίρια	
  
με	
   τον	
   νωτιαίο	
   μυελό	
   και	
   ελέγχει	
   πολλές	
   από	
   τις	
   λειτουργίες	
   του	
   ανθρώπινου	
  
σώματος.	
  Να	
  απαντήσετε	
  στις	
  ερωτήσεις:	
  

α)	
   Ποιες	
   είναι	
   οι	
   σημαντικότερες	
   λειτουργικές	
   περιοχές	
   του	
   στελέχους;	
   Ποια	
   από	
  
αυτές	
   διοχετεύει	
   τις	
   νευρικές	
   ώσεις	
   που	
   προέρχονται	
   από	
   τους	
   αισθητικούς	
  
υποδοχείς	
  στο	
  φλοιό	
  του	
  εγκεφάλου;	
  (4μ)	
  

β)	
   Πώς	
   ονομάζεται	
   η	
   λειτουργική	
   περιοχή	
   του	
   στελέχους	
   του	
   εγκεφάλου	
   που	
  
περιλαμβάνει	
  σημαντικά	
  κέντρα	
  του	
  Αυτόνομου	
  Νευρικού	
  Συστήματος.	
  Ποιες	
  άλλες	
  
λειτουργίες	
  φέρει	
  σε	
  πέρας;	
  (5μ)	
  

γ)	
   Πώς	
   ονομάζεται	
   η	
   λειτουργική	
   περιοχή	
   του	
   στελέχους	
   του	
   εγκεφάλου	
   που	
  
αποτελεί	
   το	
   κέντρο	
   ομοιόστασης	
   του	
   οργανισμού;	
   Για	
   ποιο	
   λόγο	
   η	
   περιοχή	
   αυτή	
  
αποτελεί	
   την	
   περιοχή	
   σύνδεσης	
   του	
   νευρικού	
   συστήματος	
   με	
   το	
   σύστημα	
   των	
  
ενδοκρινών	
  αδένων;	
  (4μ)	
  	
  

	
  
ΘΕΜΑ	
  Δ	
  
	
  
Κατά	
   τη	
   διάρκεια	
   μιας	
   μικρής	
   επέμβασης	
   στο	
   πόδι	
   ενός	
   ασθενούς,	
  
αποκαταστάθηκε	
  η	
  λειτουργία	
  δύο	
  αγγείων	
  του	
  Α	
  και	
  του	
  Β,	
  από	
  τα	
  οποία,	
  το	
  Α	
  
διαθέτει	
  βαλβίδες,	
  ενώ	
  το	
  Β	
  όχι.	
  Να	
  απαντήσετε	
  στις	
  ερωτήσεις:	
  

	
  
I. Σε	
  ποιο	
  από	
  τα	
  είδη	
  αγγείων	
  ανήκει	
  καθένα	
  από	
  τα	
  αγγεία	
  αυτά;	
  Ποιο	
  από	
  τα	
  

δύο	
   είδη	
   αγγείων	
   έχει	
   τοίχωμα	
   με	
   περισσότερο	
   μυϊκό	
   ιστό.	
   Να	
   αιτιολογήσετε	
  
την	
  απάντησή	
  σας.	
  
	
  



II. Ποια	
  μορφή	
  αιμοσφαιρίνης	
  	
  κυκλοφορεί	
  σε	
  κάθε	
  αγγείο.	
  Σε	
  ποιο	
  από	
  τα	
  δύο	
  η	
  
ταχύτητα	
   του	
   αίματος	
   είναι	
   μεγαλύτερη;	
   Σε	
   ποιό	
   όργανο	
   του	
   σώματος	
   θα	
  
καταλήξει	
   το	
   αίμα	
   που	
   κυκλοφορεί	
   στο	
   αγγείο	
   Α;	
   Να	
   αιτιολογήσετε	
   την	
  
απάντησή	
  σας.	
  (12+13μ)	
  

	
  
	
  


